
11 Functions

Defy : A Functions is a rule that takes

numbers as inputs ( domain ) and assigns to

each a unique output ( range )
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Function Notation
-
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Eye. ✓ =g( a) V - value of a car in

$1000.00
a - age of Car in years

g (5)
= 9 ⇒ After 5µs the car is

worth $9 k

Suppong(a)=B,78-0_=EA=IN2fg ( o )
= 13,78-0.8 . 4)

Questian?=13,78
when i , the cake of

the car no?

q=o ⇒ new Car answer =)



13.78 - 0,8 a = 0

or
-0.89=-13.78 Domains : [0,17-2]
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fyx , 2nd Derivative
.

classical

Physics
: F= maw

and derivative


